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Q17 Name the following strncture according te the IUPAC system of nomenciag

Q27 Provide the correct structure for the following given name

(E)-2,3 Epony-S-ethory3,bdimavcapto-I-(mathylthio ) 4 dacen:7, 9-diyn: 1ol

Q37 Fill in the following table according to the main differences between Sx1 and Sx2
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Elements

Alkyl halide

Rate of the reaction

Intermediate

Stereochemistry of

the product
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“A" was treated with [1 mole of Hy/Lindlar catalyst] to provide
en was oxidized using CrO; affording the compound
,0/Cl; followed by treatment with sodium hydroxide
b was then treated with NaBH, followed by adding
wg", Identify the structures B, C, D and

[ The given compound
the compound “B”, which th
“C". Then C was heated with H
fording the compound “D” whic

fow drops of HyO" affording the compound
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Q067 Provide the missing
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» Aslgn R and 5 configuration

g for the two chiral centers (draw on the

: g
How Wany stereoisomers are expected for thisdrug?. .. N

LY
\sslgn the most clectropositive carbon in the compound. Juitify vour cholee

i
: ::]“E the three nitrogen atoms; which would you expect to be the maost
% for that draw the salt up on treating the LSD with HC|

L
W
:iﬂ' s better reagent to reduce the carbonyl grep to the corresponding CHy; Wolfl-Kischnner
Mmeasen? Explain briefly
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| As general; EI and E2 lead 10 the formation of alkenes
| Amines are less acidic than thioks
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Q1 l:|} MCQ’S :- Choose the correct answer

"' .
2 oxidation stae e than oyclobutane due to..........,
b} stearic hindrance

b
b) 2. 5-diaxial interaction

8} The acidic hydrolysis
al anti-dio] ﬂmmmﬂnﬁmﬁmi“ ..... 2
b} alcohol
4) Because it depends
the reaction ia _““:lﬂ]?ﬂnthlmlﬂunﬂhlkﬂm
a) El
b E2
5) The odd among :
:j Ip.!' I][‘Iﬂdi:“t ﬂtﬂhﬁn‘"‘"ﬂ -----------
b 1, 2-butadicne
m E I !]1|1 i
2) Grignard related to.
b} Wilkamson
7)  Grignard reagent hay the
a) nucleophilic addition ﬂﬂ#hmmﬂm
b nucleophilic substinsion

8} The sumilarity in both E3
il the transition state
b there i no relation

9) The cis and trans designation,
it} geomelTic Isamensm
I} Z and E conceps

are related 10 ...,
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d} None of the abowe

e} | 3dinxial interacton
d) both b and ¢

e} epoxy alcohol
i) aboabyed

o) 52
d} none of the above

¢} | A-octatadiene
d} 1.3 cvclohexadien

o) Wirtz

di None of the above
*ia. A
¢} electrophilic addinon

*0d SN2 from mechanistic view poing s . ¢

TEEEEE b
) the carbocation
i) both 4 and ¢

e} Orptical inactivty
d} none of the alove
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The relationship among the following streoisomess is

db 1, 3-chasaal fE T

Hﬂ II.I HO H]
0,5 NH, OHC NO; BN CH, HyN NO,
CH, CH; NO, CHO
:"I;'Hﬂ!' | and 2 are enanbomers <) there is o relation
“fly 2and 3 are enantiomers ) all are the same







